Solutions to Quiz 3

Mg 2SN 3 & (A, B,C £T2)HDH, ZO—DICKEIDELL n KOMBEVI TSR
SVIHICEENTE D, MBEOBENI 1EIC>EF 1#, MO LI X D/NS %ML i 2wt
T2, ZOFHEDL LT, ROMEEEZ 5,
p(n): 2" — 1 POBETIXRTOMBZIEEINIMMOGTICBRE I S Z L3 TE S, (Hanoi's
Tower with n disks can be completed in 2" — 1 steps.)
1. p(6) FEZEL p(7) WETH S Lzl &, (Explain that p(7) is true assuming that
p(6) is true.)
BRI TREENTW AT A BEE B L, =0 )osdb ) itz ¢ &
5,
Step 1. p(6) IZETHZ05, A IKEENTVL LN WHELS 6 % 26 -1 =63 HOBEIT
CltETFILnTEs,
Step 2. Step 1 IZL 2T A’ ITIF—FBRZVEDOADLD DMMIZTRT C IZH b6, B IZik
—KO WD DT, A ILHE—HERE LML B IC—HOBHTHT Z LTS 5,
Step 3. Step 2 I & D A ITIF b #IZ AR, B IZE—HFREVWEOA, CI12iF, hIWIT
D5 6 MOBBEENT VS, p6) HEXEPS, 20 -1 =63 FOBET B 12 C D 6 Ka
TZBHL. 58T 2HNTE %, GitOBHIEEIL, Step 1, 2, 3 LT

(20 —1)+1+(25-1)=2x20-1=2"-1. 63+14+63=127=2"—1.

BHIDO AN, B, ClEZNZENA, B, COEARIEIITHLRP>E25, p(7) IZETHE I L%
MY ENTE,

2. n=4TAD»PS CIIBTEEAD-FBNIVMIBIRIICB, COELLITBLES X,
n=>5®D&EIFLE) D, (Move from A to C. What is the first move when n = 4 and n = 57)

n=4 D¢ ZORYIDHEH I (First move the smallest to) : B
n=>5 ML ZEDHRMDHEESE (First move the smallest to) : C

. NIV SIHICEIC, 1,2, 3,4,5 LA4HTZDT 5,

n=40DEEIT BEEIZ4LZ CIIBHLZY, 20720121, 1-3 % BIZBEILZW, Z
DB, 12 %2 CIIBETENZ IV, ZDO7DICIZ, 1 % B IXRIICBEITSZ &0
WETH B,
n=5DEEITHEMIINEICEZZE, 12 CIIBEITAZEBRYDAT Y 77 THB I LD
M5, EBE n BEEES. RUDAT Y T RoBEE L FEL T, kS, 2ok
FTIE R VWE ZAICEPTI LTS,

3. MEZ/NIWHHNPS 1,2,...,7T L, ZNZFh, THA T, 54,321 2T oHICBIZ, 6
WC DICELTHD LTS, REFIHETT % ADSNIBE L 20 LIt XTEBZ LICT
2 . ZNUE, EIKMEEND I LIRS, FonE T, [MOIEEIDLED, (A: 7, B: 5,

4,3,2,1, C: 6. Move A to B or C and complete it with minimum number of moves.)
B#jsE (Move to) : B B#EjHI% (How many moves?) : 95  [A]

Step 1. 5% C IZHHFZDIZ 25 -1 =310, —FREIWEZ BICBHTIDIC 1M, 20
Rz, 6z 2DIc, 26 —1=630, LZD>T, 31+1+63=95]4,

INDRETHE I 2R TDIE, HFEOEHRTIEIR WD, L TOXRLBEHVPRNTHS Z &
MEPBEDT, ZHUE, ZOFICEEFNTVADTHRETH S, BOFHHLEZ TATT I,



